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WORK SHEET NO. 3               Date__________ 

                  Month_________ 

Competency : Problem Solving Ability 

a) Meera plants 50saplings in 10 rows.  How many saplings are there in each 

row? 

 

 

 

b)   You have to distribute 96 oranges equally in 3 baskets. How many 

oranges will there be in each basket? 

 

c)  Frame your question: 

A) There are 10 packets of sugar. Arun paid 100 rupees for all the packets. 

Question: 

 

d) Try solve these: 

( Division is repeated subtraction) 

1) Raju  collects 112 sea shells to make necklaces for his sisters. He requires 28 

ses shells to make a necklace. How many necklaces did he make? 

 

2) Gangu made sweets for Diwali. He  had 80 laddoos. He packs 4 laddoos in 

each small packet. 

a) How many packets did he make?     ------------ 

b)  If he packs, 20 laddoos in bigger packets how many packets does he get? 
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